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usb 0 9 10 19 2 12 1
JPY 8 13 13 34 1 10 2
EUR =5 =2 =il -12 6 4 3
GBP =5 -6 0 -11 5 -18 8
CHF =7 5 11 9 3 -8 7
CAD -2 =9 -10 -21 7 1 5
AUD 13 1 -10 4 4 4 3
NzD 2 -11 -13 -22 8 5 6

4/13 | HE JE BE b= B prBLeoRe>n| srEIES

usD -6 6 7 7 3 5 3
JPY 1 12 11 24 1 8 1
EUR -12 =2 R -16 6 6 6
GBP 5 0 2 7 3 6 2
CHF -4 7 14 17 2 1 4
CAD =2 -10 -10 -22 8 7 8
AUD 14 =2 -12 0 5 1 5
NzD 4 -11 -10 -17 7 -6 6

4/6 | HE | B | AR | #& | I’z

usb -11 6 7 2 3
JPY =2 9 9 16 1
EUR -10 0 0 -10 6
GBP 6 -6 1 1 4
CHF -8 10 14 16 1
CAD 0 -7 -8 -15 8
AUD 17 -3 -13 1 4
NzD 8 -9 -10 -11 7




